PHYSICS SSC-I

Total Marks Sections B and C: $3
SECTION — B (Marks 33)
Q.2  Attempt the following questions. {11 x 3 =33) 2P e Lol Jir
{ll | Whal are base quantities? Construct a table How does heat transfer occur through the
showing any four base quantities along with windows and vents of a room? Explain briefly.
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(i) | Express 300 micrometers in ‘millimeters’ and v Prove that —40°C =—-40°F
‘kilometers', + | OR ~40°C = ~40°F [ fade | 03
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(ill} | Differentiate between rotatory motion and What changes are expected in weather if the
circular motion. Give example for each. 15 barometer shows increase in almospheric| 1.8
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{iv) | In case of a fall, how a helmet protacis ths
motor cyclist? Expiain in context of F=AF/At, Prove that 1AWh =3.6MJ
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{v) | State conditions of eguilibrium and also give e Calculate the value of "g” at the height of 2000
their mathematical forms, « | or | kmabove the surface of earth. o
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(vi) | A screw gauge has smaliest division on main A force s aeting on 2 body making an angle of
scale 0.5mm and circular scale has 100 30° with x-axis. The vertical companent of force
divisions. What will be the pitch and least count| 1.5 1525N . Find the force. |
of this screw gauge? 1:'5 OR ,;.zd,,‘“{.;,},ﬁ_q_ge,ff,;r’?..g%g;uﬁ 300 =) | 03
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(vil) | Calculate mass of earth by using law. of Differentiate between stable and unstable i
gravitation. 03 | or | equilibrium, %
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{vili) | How much energy can be obtained from 20 g of Why is the outer edge of the road kept higher
uranium? 03 | or | oncircularturn? s 03
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(Ix) | State Hooke's law. Briefly explain the term - ‘Differentiate positive and nagative acceleration. -
‘elastic limit'. + | ar | Show these quantities graphically. A
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(x} | Briefly explain that the gravitational forces are Vernier calipers or Screw gauge, which
consistent with Newton's third law of motion. instrument gives more precise measurement?
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(xl) | what is meant by radiation? Enlist the factors What is meant by momant of force(Torque)? On
on which radiations emitted from a body which facters it depends? Explain briefly.
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‘HNote: Attempt the following questions. {4x5=20) b
Q3 B, By Do o1 o 2 What is meant by rate of flow of heat through!
IHE, =Wt Uang Soaed Mue grap conductor (Thermal conductivity)? On what
for uniformly accelerated body. 9| om factors does it depend? Derive its formula, 142
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Q.4 | What is meant by the terms ‘Kinetic Energy’ Explain thermal expansion of liquids in detail.
. kl y
and 'Potential Energy’? Prove malﬂ.’k‘=%mv" /Db it b7 L it
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2.5 | Explain that liquids exert pressure, Show that Explain Newton's secend law of motion. Also
: liguid pressure depends on depth and density derive unit of force from this law.
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Q.6 | How much heat energy is required to change A car slows down from 100 km/h with a uniform
0.5kg ofiice at —10°C to water at10°C'? retardation of 2ms™ ,How long it will take to
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